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“ Robtang 1'uss’is located in -
“\' Pir Panjal range (B) Dhauladhar range
(C) Zanskar range (D) Shiwalik range
Jzam =i frg Soft A feag 2
(A) AR GoTet Soft (B)-ﬂ‘t?—mm
(C) SR oft (D) A

2. When was Shimla Radio Station set ? ¢ -

(AY"1994 1934
(C) 1955 @ 1938
feren Wed R m@ T ?
(A) 1994 F (B) 1934 &
(C) 196 5\ . (D) 1938
3. Whic lley ‘of Himachal Pradesh is known for the production of honey ?
(A) Chamba Valley (B) Spiti Valley
(C) Kullu Valley (D) Beas Valley

ferree WRw # Y T B MR 9T F faw s oS ¥ 2
Ay T T (B) fegdt wrt
© T T D) =@ T
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4.

Which place was called as Nagarkot in ancient period in Himachal
Pradesh ?

(A) Chamba (B) Bilaspur

(C) Kullu (D), Kangra

e F # fearea ww & fr wm A AR & Am @ TELE a2
(A) == (B) faemag

(C) % (Y&t

Who is the Padma Shri Award 2022-23 winner fr @ml Pradesh ?
(A) Dr. Krishan Lal Sehgal (B) Kedar Th@

(C) Kulbhushan (DY N $Sharma

femrae waw @ @ 2022-23 T wEmsh e ?

(A) Bl F 9 T B IRT

(C) HaEY + oI

Arrange the following di of Himachal Pradesh from North to South
direction : : @

(2) Shimla
(4) Sirmaur

answer from the options given below :
(B) (4), (3), (2), (1)

(© (), (3), (), @ @ @), (1), (2), 4)
fore W @ Frefefan frel @ I A R R § et Wik
a =& (2 ferwen

(3) HiTST ). fauh
ﬁﬁqmﬁmﬁﬁﬂﬁmﬂwmﬁ :

A) (1), @), (3), @ (B) (4), (3), (), (1)

© M), 3, @,® - D) (3), (1), (2), (4)

TBC : TPTCO-23-BC—A 3 P.T.b.



Match List I with List II :

List-I List-1I
(Dam) (Rivelr) |

(@)  Nathpa-Jhakri d() Beas
&) Girinagar c () Ravi
©  Chamera o (iij) Sutlej
(d) Pandoh b (fv) . Ginl

Choose the ﬁ%‘g fgﬁn\{eé'ofrrﬁm the options gi

@ @ (© @
A & ) Gi) v %

B) Gii) Gv) G )

Ch Gii) @) &) @)
M) G) G G ()

I g A

‘131 I w 11

(aim) &)
(@) Tad € =M
®) @ w
(c) k) T

@ himexam.comy,) fif
ﬁﬁqmﬁmﬁﬁﬁﬁvﬁwmmaﬁﬁﬂ :
(@ ) (@ (d)

@a) O @ (i) (i)
(v) @) v e lerr ot

join himexam

) (iid)
(‘('f;, Gii) @) @ @@
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8. Which of the following are top three districts of Himachal Pradesh in District

Good Governance Index 2021 ?

(A) Hamirpur, Bilaspur and Kullu

(B) Kangra, Bilaspur and Una

(C) Hamirpur, Kullu and Mandi

(D) Bilaspur, Mandi and Hamirpur O

foren gUEA gESE 2021 # fogea RO B m&&wﬁ%aﬁﬁ%?

(8> T, faemq it e - ’
(B) #me1, faamg sl & ®
(C) TIRY, Few, 3R & +
(D) fammag, wet
9. According te mic Survey 2022-23, which is the area of operation of
holdings o &h 1 Pradesh ?
(A) 9.44 hectare (B) 23.04 lakh hectare
(C) 44.12 lakh hectare (D) 55.67 lakh hectare

feorae Wi A wAEW 2022-23 F AR, e W # g wfwen @

i &% @@ € ?
(A) 9.44 TTE ¥R (B) 23.04 @M@ ¥RAT

(C) 44.12 @ TR (D) 55.67 W@ ¥R

TBC : TPTCO-23-BC—A" 5 P.T.0O.
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10,

11,

12.

hich is more
The per capita income of State is estimated to be ¥ 2,01,271 W

& R
than the estimated national per capita income for 2021-22 by

(A) 44987 (B) 55675

© 51264 (D) 62745

T N o s o ¢ 2,01,271 8 @ o & A <l
T 3 w=fm amg @ g

................. afuw B
(A) 44987 (B) 5567&)

(C) 51264 62745
How many medals India won i 1 Para Games-2023 held in China ?
(A) 100 107
) 11 + (D) 105
7 ¥ amifaa —2023*!%9«%%#’4%?
(A) 100 * (BM 107
105

Which onig of the water bodies separates the Andaman from Nicobar ?

(A) 11° Channel _ (B) 10° Channel
(C) Andaman Sea (D) Gulf of Mannar
sz 3l Frepra # FAE T T @M wT E 9
| g1 ¥ (BY 10° ¥
u;c\ " D) ¥R #} @@
.BC—A 6
-y mco'za



13. Farakka Project is related with which river ?

14.

(A) The Ganga (B) The Beas

(C) The Kosi (D) The Teesta

(C) =t (DY e
Arrange the following rivers from North theof India :

(1) The Beas e Krishna
(38) The Luni @he Kaveri
Choose the correct qnuw@a he options given below :

(A) (1), 3), (@), B) (2), (4), (1), (3)
©) (), @ ‘N D (1), @), @), 3)

YA i Afedi ) W VA hhw e F =afem wifd .
(1) =™ (- Foom

@ @ (4)° w3

3 fay Mo fawed § A WH IW T @ FA

4) (1), 3), @), @) ® @, @)W, O

© @), (3), @, (1) D (1), (4), ), (3)

TBC : TPTCO-23-BC—A 7 P.T.O.



15. Match List I with List II :

List-1
(District)
(@) Betul
() Bhojpur
(e) Raipur
(d) Anand

Choose the correct answer from the options

(@ ) (o
A @ & i)
B) G Gi) i)
© Gv) GO G
M & ) Gii)
T 1w W IR

Lol @
(fSrem) ()

(@) =ga
(®)

(c

(d)

List-11
(State)
(i) Madhya Pradesh
(i) Bihar

(ii) Chhattisga
(iv) Gujrat

(d) ' ‘ ,

(iv)
&
(iv)

(ifi)

ﬁﬁqwﬁﬁﬁﬁﬁﬂﬁmmmwz

@ @ ©
(A) () (&) @)
(B) ()  Gi) @)
() @) @ (Y
@) O (G i)

. TPTCO-23-BC—A
TBC

(i
et 1

() ¥ W=y
(i) fasm
(i) BeftTg
(iv) T

(d)

(iv)

(iv)

(iii)

(iv)



16. Which of the following states recoives floods in the winter months ?

(A) Assam (B) Kerala

(C) West Bengal (D) Tamil Nadu

A T T 5 @ v § o e b2

(), 37EH (B) & O

(C) wRrm Fme (D) afaeg
17. Gaza strip is related with : A
(A) Black Sea Sea
(C) Tasman Sea Mediterranean Sea
T T 1 HEM @
(A) e R (B} T WM &
(C) X (D) YH¥ ¥R |

18. What is the name of Israel Parliament ?
(A) Diet (B) Majlis
(C) Sejm (D) Knesset
wTa B faufaw 1 @ T €2
(A) 3132 (B) wafer|
(C) ¥=m (D), ¥

TBC : TPTCO-23-BC—A 9 P.T.O.



9 "
* What ig the old name of Taiwan ?
(A) Gold Coast (B) Persia
(©) Formosa (D) Ceylon

TR W A w2

(A) s Fre R O
© wedren (D) m«()

Which of the following objects is i

20,

(A) Sewing machine Clock

(C) Electric fan .

sgen § § ?
(B) wgl
(D) w3t § Jwz & g

Tara wanted me to write e —

(A) not of us had any paper to write

) neither of us have any paper to write on
(B

either of we had any paper to wlte
on

«ther of us had any paper to write on
ot

O ossBO—A e

s

(D) Second’s hand of the clock



99, Fill in the blank -

the admit card.

ooooooooooooooo

If I had submitted the form i tifng;
(A) they would have issyed
(B) they have issued
(C) they would have been Sl
(D) thesr had issued |
Fill in the blank : C)O
The bunch of flowers ................... beautifu "
(A) look - By
(C) are: not look
24. Choose the correct passive *L following sentence :
We watched the last @ cinema hall.
(A) The last m is ed by us at a cinema hall
B) Th : s been watched by us at a cinema hall
(C) s\ad'n was watched by us at a cinema hall
(D) The match was watched by us last at a cinema hall
25. Choose .the correct direct form of the following sentence :
Saniya asked Shankar whether she could accompany him to the tour.
(A) Saniya asked Shankar if he could accompany her to the tour.
(B) Saniya says, uShankar, may I accompany you to the tour ?”
(C) Saniya aaid’ to Shankar, “Can I accompany you to the tour ?”
(D) Saniya interrogated Shankar, “Can she accompany him to the tour 7"

TBC : TPTCO-23-BC—A 11 PT.O.



26,

27.

28,

29.

30.

- H 9
Which of the following sentences is Bfamm““ca"y L &

(A) Ronij is junior than Tanvi.

(B) That plant is bigger then this one.

(C) She is far better than her seniors.

D) This reply is most appropriate than the previousigne

Extensive

Choose the appropriate synonym of the give"é

(A) Widespread

(C) Elite

Choose the appropriate

Affirm

(A) Substantiate

cldsive

an*n’ﬁe given word :

(B) Verify
(D) Aver

e\ which can replace the underlined segment in the given

After seéing the result ulled a long face.

(A) he cut a joke

(C) he smiled broadly

(B) he looked gloomy

(D), he decided to work hard

Choose the appropriate one word substitution :

Tpat which is ot permitted.

(A) Forbidden

© !
7P7C0

TBC

mpressiﬂ"“bl“

.23-BC—A

(B) Impersonate

(D) Obscured
12



31

32.

33.

34.

35.

TBC : TPTCO-23-BC—A

E R CuEi W*mwuﬁuﬁmaﬁqﬁﬂ=

(A) =3 ® T
(C) Y | D) T
frt & R P IR A’ e v g 2 @
o Rl (B) M O
(©) T fadm (D) TR C)
fra d e = s w6t o2 ’
(A) =iy (
(C) =ty *'lb)uﬁa‘i
f=a d | FFW <2:?

L 2
(A) ‘\\‘ ) =
(C)Q (D)= SR
frer firdt & v S ¥ E 2
(A) /% + W4 = AEH
(B) aia: + 3wy =
(C) Sm + Mg = FTI
D) wd + T49 = HaoA

13 P.T.0.



36.

37.

38.

39.

40.

41.

P & & mowm wfy 9

(A) 7 (B) &

€) (D) =

S P S AR @
(A) @y =men (B) =

() W =aem (D) d=A

=1 4 St wraaras ww @ ¢ 2 "
TS
(C) ama,

(A) T (B) fa®e
© \ (D). S

f= =

&) B (B) @ﬂz'
(C) TH >
g’ TR T @ F I

4 (B) 3rmvad
(€ e o
 qprco-28B—A i



4. In which Article of the Ingia's Constitution has Hindi been accepted as the

43.

44.

TBC : TPTCO-23-BC—A

official language of Union of India ?
(A) 349

(B) 355 (1)
(C) 343 (1) ) 350
mﬁﬂvﬁm%mwﬁfmﬁmmaﬁmm f@m
™™ ¥ ?

(AL e (B) 355 (1)
(G (D) 350 O
When dealing with an unconscious casualty, you should ¢ eck up tO .ooiniinins

seconds for normal breathing, B

(A) Maximum 2 seconds for normal breathi

(B) Maximum 5 seconds for norm thing
(C) Maximum 10 seconds for n athing
(D) Maximum 30 secon normal breathing

(C)
m,wmaﬁa}mﬂmaom

How many compressions and breaths should you do for each cycle of CPR ?

(A) 15 compressions, 2 breaths  (B) 30 compressions, 5 breaths

(C) 30 compressions, 2 breaths (D) 15 compressions, 5 breaths
ﬁ.ﬁ.m.%wmw%mmmﬁﬂﬁ?muﬁﬁm ?
(A) 15 Hirea, 2 T (BL 30 ®9Ed, 5 W

©) 30 ¥, 2 T (D) 15 W4rEd, 5 WH

15 P.T.O.



?
. ; Survey ¢
45. What s the correct sequence for the Primary

(A) Damage, Response, Airway, Breathing
(B) Danger, Response, Airway, Breathing
(©) Danger, Reply, Artery, Breathing

(D) Danger, Response, Advice, Back

m%ﬁmwuﬁmw%?

(&) &fa, sfafam, argamt, var O
(BJW.Uﬁ%m,aquwi.m Q
(C) @, 3w, Wi, varg s

46. What is not a sign of sh k%
(A) Pale, clammy skin+ (B) Increased pulse rate
(C) Nausea (D) Wide eyes and open mouth
W F T g2
) G, & ®) T F gfg
0 D) i 3t st e s
47. What are the symptoms of third degree burn 2 |
(A) Charred skin, no pain (B) Charreq skin, pain
(C) Blisters and pain (D) Red ang pain
g foit @ & @em o g 2
(A)ﬁﬁggaar,?ﬁéﬁqﬁ {B)-Wﬁﬁm,aﬂ
©) o st <@ D) i <
| ppTCO-23-BC—A »
TBC ¢



48. What are the 8YMptoms of Hypothermis 7
(A) Warm and sweaty
(B) Cold and sweaty
(€ Cold, tired, shivering and acting abnormally
(D) Just very sweaty
e & wem g § 5 O
(A) ™ MR wiy . Q
(B) 31 3R WY ammy %
(C) 31, @@l T, Fwd A o =
(D) 9% FEA T Fen

49. What is the first thing $J for severe bleeding ?
(A) Put the victim Qery position.
(B) Direct B &lem cloth or hand
(C) \an cloth
(D) Give ‘oxygen
iR e & fg A TR T A e ?
(4) Hfeq = ifa fefa & @
(B) W w73 M WY & W TAE I
(C) wrs F9g A @
(D) ateftar &

~ TBC : TPrCO.23.BC—A 17 PT.0.
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V- What is the main purpose of the Heimlich Procedure ?

51.

(A) To remove a blockage in the victim's airway

(B) To treat the absence of a victim’s breathing

(C) To treat an insufficient breathing

(D) To Stop bleeding due to injury

e sfFm w1 weu ke b 2 O
(A) 9ifea 2 agant § reme @ @ A @ |
(B) difga =} wiw N 4 =0 = vo ¢

©) Iiw yam =1 o w0

D) W= T W g\ T Q

What do you have to do w n a passenger has no breathing ?
(A) Start CPR i e%

(B) Put the imyin the recovery position
(C) Con N the breathing check

(D) Count pulsations
& fRet ot F wW T N W@ R D R wmowen 2

18



Jeanliness, physica) )
2, C exe
5 reise, rest and sleep are a part of wooeoeeererse s

(A) Hygiene
(B) Social hygiene

(C) Personal hygiene
(D) None of these

o, TR =mm
'mm#{ ........................ mmt|
(A) @
(B) wmifa® @@=
(c)azfa?mﬂm O
(D) w8 @ = 76
@

_ Oncology is the study of :

(A) Skin
(C) Teeth B
wfefaam fewa @

%
(A) =9 \ (B) W ®
(C) T @) & =

. Goitre is caused due to the deficiency of :

(A) Potassium (B) Calcium
(C) Vitamin C (D). Todine
1 m feet w0t @ B €7
(A) Wrfyrm (B) hfewrad
(©) faafm C (D) I
1 P.T.O.

TBC . '
C: TPrco.23-BC—A



" Grant of conductor’s licence is provided under which section ?
(A) Section 29 (B) Section 30
(C) Section 31 (D) Section 32
m!mmsﬁ'aﬁmuma‘:mmﬁmmt ?
(A4) w29, (B) Hm 30

(C) ywrr 31 (D) wm 32 O
56. Every application for a conductor’s licence shall be panied by & «.iicsiniisi
certificate. %@
(A) Medical ess
(C) Both (A) and (B) @ None of these
FEFY uREg f?l'q G o . [qYg e esssssiiig WEIS e faar )
(A) s Afsa @ B) frig
(C) (A) aﬁz:m D) ¥ ¥ K =
57. Revocatio \ ctor’s licence on grounds of disease or disability is provided
under
(A) Section”32 - (B) Section 33
(C) Section 34 (D) Section 35

mmﬁmﬁmﬁmm#&ma}maﬁmmmmmm
2 e fem ™ ¥ -

Ci ST M (D)* 3rvm 35
(
23-BC—A .



the Moto :
g Under otor Vehicle Act, 1988

» What is the Jowest age for the driver to
Jrive a transport vehicle, othe e lowest ag

rt |
rmment ? hana transport vehicle belonging to the Central
Gove .

(A) 16 years of age

(B) 18 years of age
(C) 21 years of age

D) 22 years of age
Mmﬁﬂmﬁm,wss%m'g}mﬁ..ﬁ ﬁ - o

() 16 T 7 o (B) 18 = =

D) 22
59. In terms of road safety, what do you und

©
(C) 21 94 = Iy

y the term “Golden hour” ?

(A) That hour of day in which ad accidents take place

(B) That hour of day in whi@ﬂum road accidents take place

(C) The first houra ma in which if proper first aid is given, the accident
%

victim ha N chance of survival and reduction in injuries

(D) The tithe/uring® which one can dive at any speed.
TF W & weyf # iesd A W= A W T TR § 2
(A) f7 51 7 v fogd wad #9 WEF g B ¢

(B) fr1 w1 gz v fored waa oo wEH Foend A §

(C), 3mam @ s ween Ha o Al 3 WU IR R vy, @ e dea
%wmmﬁﬁﬁﬁﬂﬁﬁﬁWMt

e .
€. TPTCO.23-BC—A = kel D,

‘  ———— R ——



een

; r betw
50. National Road Safety Week is celebrated every Y
January 22 to 28

(A) January 11 to 17 (B)

" (C) February 17 to 24 @) January 7 ta Ja
Tﬁﬁﬂmﬁt&nmmaﬁﬁm@?ﬁ“mm%
(A) 11 | 17 SEd ‘ (B) 22 9 28

(C) 17 @ 24 wEd (D) 7'@"3@
61. Hazard warning lights should be used whe(my o
(A) In a traffic jam ¢
(B) Racing with other cars

(C) Being driven by a leax%

(D) Broken down and cau obstruction

@R I SJaEA are 3@ e w1 =ifed, S 9ed

62. Pan-India emergency number for fire, police and ambulance ete. is :

(A) 101 (B) 112
(©) 100 (D) 108
S, T o T S B . s wrha. st o #
&) 101, (B) 112
O i D) 108
pro0-23BC—A #

TBC: - B




" who is eligible for free ¢

Fave)
ithi o0 all typeg of buses, including Volvo and AC
puses, WM And outsige g, g,

te ?

(A) Ex. M-Ps. with op, attendapy

(B) Hon'ble M-Ps/\, 4, with one atteng t
ndan

(C) Press Correspondents (State and Distriet level)

(D) Press Correspondents (SubDivigional Leel O
m%ﬁﬂmmwmﬁﬂ.mmmﬁ-ﬂ gqa'ﬂﬁﬂ*
——_y .

(A) T T TF WHF 3 qy
(B) WrTd . Wi/ faveE & wews ®
(©) ¥ waw (T o w@
(D) %W ﬁaﬂﬁi‘(m
64. What is the \ travelling limit for Press Correspondents in the

designated ategory of HRTC buses ?

(A) 5,000 kms (B) 15,000 kms

(C) 10,000 kms (D) 20,000 kms

HRTC vt = fifie ¥ 0 sl & o e g aon <fm 72 & 2
(A) 5,000 fFai (B) 15,000 feFaimit |

(C)" 10,000 framie D) 20,000 fFeir

T 23 P.T.O.
8C : TP1CO.23.BC—A



—_— — s ﬂ

when trave]j;
‘What is the fare policy for children aged less than 5 years ing
°n any type of bus ?

(A) They travel for free

(B) They are charged half of the fare

(C) They are charged the full fare O

D) The fare depends on the type of bus
Sm%mm%wﬁia‘.mm F W W AR FW T fg

(A).aaqamrﬂa%

(B)E%mﬁﬂmhﬁl@

©) =% qu farn 2+
(D) fa&ra ag
66. What is t.ﬁ offered to Smart Card holders for travelling in HRTC
(A) 5 ncession in fare (B) 10% concession in fare
- (C) 25% discount in fare (D) 30% discount in fare

himexam.com
HRTca'sﬁﬂmmﬁa?ﬁqmmﬂ‘sﬁﬂmmmzmﬁm

S & ?

(A) 5% fetan & = (B). 10% famm 4§ g
(C) 25% Tt & @ - (D) 30% fovma & o
TBC : TPTCO-23-BC—A 24




n purchase the §
uses

‘ only senior Citizeng

(A

Government employeeg ,
() D) Children unger b vears

HRTCaﬁﬁm%ﬁ!Wmmmmt?

(A) RS W B) = w7 O
() T FH D) s =i 3 m%g

_ @
. What should a driver do when they encounter

(A) Speed up to cross the pedestrian ¥%ckly
(B) Ignore the sign and cont@vi g

(C) Slow down and red to stop for pedestrians

ian Crossing Sign™ ?

D) ChangéManéé iMgnediately
‘ﬁm@"ﬂaﬁmm%ﬁﬁ"mmmﬁizﬂwmw?
(A)qﬁa“@mwmmgmﬁﬂm

®) ¥ 2 e w1 o g F@ E

i PTO.
PfCO-za-nc—A 2



69. What does a “Yield to Pedestrians Sign” at a crosswalk mean ?

70.

(A) Pedestrians must yield to vehicles
(B) Slow down and yield to pedestrians in the crosswalk

(C) Pedestrians cannot use the crosswalk

(D) Vehicles can proceed without stopping Q
T e and W Uil @ fon ws W ?

(A) "¥d 9o 9" N T @ Y‘wm

(thﬂmaﬁm"ﬁmwﬁaﬁ" mﬁ"mﬁm"hﬁm
(C) & <arF &1 Ivam ¢ "® T W
(D) T fam &= 3m

What should you you encounter a “Slippery Road Ahead” sign ?

(A) Increasc 401/ %peed to maintain control

(B) Keep h%

(C) 1 the sign, it's not important

ollowing distance

(D) Change lanes frequently
"mﬁaﬁm"ﬁ%aahewﬁmmwmmﬁa ?

(A)Wmmammmw



r

TI‘ ‘vh
Category

A) public/Private Schools

(B) Govt. Employees

(C) Gallantry Awards Winners

of Arrmed Forces

917



73.

) TpTco.zﬂ-BC—-A
TBC :

rt rporation fi .

nitial name of the Road Transpo Co Ormeq in
v 3 'I'l 1948 ?

H t'radesh after the merger of 33 hilly states 1

‘' umachal Road Transport Corporation

* Mandi-Kullu Road Transport Corporation
‘C) Punjab-Himachal Road Transport
(D) Himachal Govt. Transport 0
1948 7 33 m@n&ﬁ%“ﬁm"or"mft"*mg’mﬁmm%
Fm w1 wrifvs o o o ¥

(A) feareet wew fme fmm
By 5Et-eq, w5F e @‘

(C) vema-fomraa wes

When dnd‘th er of Himachal Govt. Transport and Mandi-Kullu Road
Transpo (N ion take place, resulting in the formation of Himachal Road
Tra ration ?

(A) In 1974 (B) In 1966

(C) In 1972 (D) In 1970

fleATerer THT AfeTe oM W -] W WRaw frm 1 okt v g, ﬁq-armaa
gz i@ fm @ e gen ?

(A)e1974 7 (B) 1966 #

() 1972 i (D) 1970 %
28



(4ho is eligible for six
t
in ordinary buses ?

free Passes in a year for travelling within e S

" cancer/Multi-fractyre injuries patients

(B) State Awardees Teachers

©) Hon'ble M.Ps/M.L As with one attendant

O

D) War widows with one attendant
mﬁaﬁﬁwﬁmmiﬁﬁmﬁﬁﬂm‘ﬂ@*mi ?

(A) FEUTE-FFR A T@ T ‘

®) T T foew ®
(@) WY WiHe/fauE F WS
D) TRy favard & W @

%. What percentage of the tieket amgunt will be deducted if an e-ticket is cancelled
‘ .

within 4 to 12 h w the departure time of the bus from the originating

station ?
(A) 5% ® 10%
(C) 25% @) 20%

mwwﬁtﬁmﬂqﬁam4ﬁuﬁ%%m§-ﬁmmmm

£ 3 by 3 ofg § 3 ) S w2

(), 5% i), 40%
©) 25% D) &%
29 "R PT.0.

TBe .
C: TPTCO.23.BC—A
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717.

i with a height a
Whicl o s o llowing signs indicates that vehicles ght above 3 5
o1 o rohibited from entering V

'\ .ntry sign with a symbol of a truck

I" Weight limit sign with a symbol of 8 truck
(‘) Height limit sign with a symbol of a truck

(D) Length limit sign with a symbol of & truck

Preffan & 9w fag s 3 3.5 X %] AR L
(A) % & fag & Y9 No entry &1 .

(B) 3% % fag 3 wWa Weight i

(C) 7= & fag & W Heightli faz -

(D) 3% & fag & wyg h linit &1 fog
Which of the follow indicates that there is a wild animal crossing
ahead ?

(A) DeeP\ ign with a symbol of a deer

Ele rossing sign with a symbol of an elephant

(C) le crossing sign with a symbol of a cow

(D) All of the above
frefafaa # § @ fog €0 & ¢ 5 i sl wwad w5 e € 7
Ay fem & wiw & @y feor Fem fag
(B)gq%a‘.u?ﬂaiﬁmmﬁﬁﬁﬂﬁag
(C)*mﬁm%mﬂmﬁﬁﬂﬁg

0-23-BC—A 30




at 18 the maxim .
5. WB UM penalty for drunken driving under the Motor Vehicles
(amendment) Act, 2019 ?

(A) Rs. 10,000

(B) Rs. 15,000
(©) Rs. 20,000

. (D) Rs. 25,000

(ApRA0) (B) 15000 %. < j
(C) 20,000 %.

(D) 25,000 -
79. What is the new compensation scheme for rofid atgidefit victims introduced by
the Motor Vehicles (Amendment) Act :

(A) The Act provides for highe pensation amounts

(B) The Act provides for f nsation payments -

(C) The Act provides fof a @ge of injuries and damages that are covered
by compefisat

D) Allof t ﬂ;\

AR e ( ) afufrm, 2019 TR eF FHen Wied & faq g N m

wfgfd e @@ € 7

(A) sfyfrm 31 wiegfd f0 e F@ &

(B) sfufram ¥h @ sl YA WA @ d |

(©) sufm g @0 FR A T W KA RN o fawp faen wew
F ¥

D) 3wz wvft
T'Bc : TPTCO.23-BC"’A 31 P.T.O.

h




9, what is the maximum Penalyy

t, 201
M Ctadep ppa- W . hicles (Amendment) Ac

. 2
Lar iy nout a licence

A 00 B Js THEE
' 15,000 oy Be: 20,000
e (W) afufrm, 2019 @ aed, fE bl
“HAH qE A E 2 O
A) 5,000 F.s
(C) 15,000 *. (
81. The greatest number less than i
(A) 168 % 336
(C) 840 + (D) 494
T rfuwan wem @w_ams,lzlﬁ'%ﬁmﬁaﬁ.%
(AY 168 (B) 336

(C) 840 \ (D) 494

82. Which"@ne of the following fraction is smallest ?

6 19
(4) 77 B =

13 3
(®) 18 . (D) 71
fedd st Rim ga@ e § 2

6 19
(A) ﬁ' (B) 56

13 3

— D) =

TBC : TPTCO-23-BC—A 32




3 A motoreycle travels 9 km an hoy "
i r laste

85.

TBC : TPTCO-23-BC—A

r than a cycle over @ journey of 600

km. The cycle takes 15 hours more than the motorcycle, then the speed of
motorcyele is :

(A) 20 km/h
() 40 km/h

(B) 30 km/h

) (D) 50 km/h
600 7l F1 T 3 0% Mt W, ey @ s 2 4 20 A

¥ TR T MR WEFA R 15 R o o &, 7@ A

(A) 20 fowie. (B) 30 fasi/d. WO
(C) 40 fe=re. (D) 50 faira. C)

How many numbers upto 200 are divisible 4 3 together 2

(A) 12

(B) ulf
(C) 20
gem 200 7% T fEad @ l'&«tamaﬂqa;mqmﬁﬁ!i?
) 16

(A) 12
(C) 20 (D) 50
2

If the annudly s@in the population of a town is 4% and the present number
en the population of the town in the next three years

(A) 17576 (B) 17676

() 17776 D) 17876
qﬁqmwﬁmh%aﬁaﬁﬁﬂ@ﬂﬂﬂﬁtwmﬁaﬁﬁﬁw

15.625%,aaam€i?ﬂ=larﬁﬁwﬂm#@1'€r'ﬁ:

. (B) 17676
(A) 17576 himexam
(D) 17876
(C) 17776
33 P.T.O.



ds 45 litre of water, then the quantity of water thay

86. If one-third of a tank hol
half of the tank holds is :
(A) 22,5 litre (B) 90 litre
(C) 67.5 litre (D) 175 litre
vﬁwirahm%m45§ﬁaﬂmﬁ.ﬂﬂﬁ$ fee # wr 3
"R e
(A), 22,5 T (B), 90 TiX
(C) 67.5 #ftX ; (D) 75 ﬁ() ,
87. Mohanlal covers half of his journey fro himia o Mandi at 12 km/h anq
the remaining half at 36 km/h. His ge ‘speed is :
(A) 18 km/h 4 km/h
(C) 30 km/h % 27 km/h
e ferren @ wodd s fewm 12 fRvi/d. #t 9@ § T F@
agqr s=n gon feww ¥ T F@ ¥ IE hwm W@ ¥
(&) 18 feirs, (B) 24 feiyd.
(C) 30 (D) 27 fesiire.
88. The of three cars is in the ratio 1 : 2 : 5. The ratio of times taken by
the cars te travel the same distance is : '
(A) 2:4:10 (B) 10:5:2
C) 2:6:1 M 2:1:5
d @ MF ST L 2: 5 TR gh P ww wd F wrd g el
qeg # I T |
M 2:4:10 B) 10:5:2
© 2:5:1 D 2:1:5
TBC : TPTco-23-BC—A 34




(A) 45 cm 24 cm and the breadth 21 cm is
() 504 cm? (B) 90 cm?
D) 270 ¢m?
@ I R o4 o 0 et
) 45 A2 21 ¥ &, ;| dwa €
(A
(B 2
(©) 504 A2 L 90

D) 270 &2

- ;
o. The diflerence between the local valye ang the face valu

)

@ln the numeral
61845 is :

\ 4
(AY 840 (B) 80
(C) 792 o £5
3% 61845 ¥ 8 & T Tw A o Ik
(A) 840 @a i
(C) 792 (D) 805
Pointing out to :1 prakash said, “She is the daughter of woman who is
the mother h d of my mother.” Who is the lady to Ramprakash ?
(A) Aunt (B) Daughter
(C) Sister (D) Grand-daughter

T e ) deba @ e g TR A, A€ W A N ph ¢ @ e 4
m,%qﬁaamm%'waﬂazﬂfmmma&t:

(A) w4 - ® hel
TBC . 'I'Prco_za_Bc__A 35 P.T.O.



a
92, Nitin ranks eightcenth in the class of 49 students. Wh

93.

94.

t is his rank from the

last ?
(A) 31 (B) 33
(C) 34 ' (D) 32
19 Frnfefd a3 wan F e @1 @ SwEREd ¥ I o =R
(A 31"'} | (B) 33
(C) 34 @) 32 Q
If 4th day of a month is Saturday, then whit@) be on the 27th of the
month ? &
(A) Monday Thursday
(C) Saturday Friday
T w1 1 dur a7 wfEn @, e @ 27al fA s ¥ ?
(A) Hreame + (B) TR
(C) wffar @ (D) YHER
¢ 2| 9
The miss r in the figure 27 | 18 is :
(A) 40 (B) 36
(C) 54 (D) 63
21 9
fa3 (37 |18 ¥ srqufeaa we ¢ .
(A) 40 (BY 36
©) 54 D) 63
36



95. On the basis of the

96.

97.

relat; :
for the migg; .alluns}np between the first two words, the right choice
INg word in the
D * Second pair ?
is : - or Nurse "4? : Follower
(A) Worker
(C) Unior? :11;; imployee
.. ader
Octor : Nurse :* 2 : Foll
(A) Worker o olower O
mployee
(C) Union ploy

(D) Leader Q
(Q. No. 96 to 100)

A cube of 5 ¢y length has been colour
has been subdivideq into smaller cubes

h m. Now answer the following
questions :
(V. %. 96 ¥ 100) : ‘

5 T T A W % @ ¥ A T 1w T B
tﬂ%—tﬁ%ﬂ'-ﬁﬁﬁmfaa = e v @ s SR

How many cubes a th only one face coloured black ?
(A) 54 3

k each surface and then it

(B) 12
(C) 18 \ D) 17
P T YR8 I W H Hewm fEeR ¥ 2
(A) 54 (B) 12
(C). 18 (D) 17
How many cubes are there which have three of their faces coloured black 2
(AL 6 (B) 8
(C) 4 D) 3
e 77 T 0 W I8 T T H wen et ¥ o2
(A) 6 8
©) 4 i

T.O.
TBC : TPTCO-23-BC—A 37 P.T.0



wp of their 1aces coloyy,
T H'!_'_li]' two 1)
98. How many cubes ar

black ?
(A) 20
(C) 38

' ;
e % 2
=5 gegl (el .
9 I 'l’ L1

] s B .
- oo red F";!["..'!\'-.‘.l'-“?
e S (P Q.J‘tam;,\_‘, vl ]
o of their faces
here which have none © s
are there Wil 2 e
“many cubes are there
QW many cubes &

'(:_{T' 'E':.Tlﬁ['- 3

(B) 27
(D) 39
(C) 26

3 — +» rmibe of
Ll il gy - N OOOT cube of
{ 3 4 Vel -ili;ii].'_. ';—. ”qu;:!‘ll_:_!l l'.‘if‘_f;&- 1

. iy -y 3 _'l‘ B CULLlill I

- be 'J,.'f.!_‘.!'_!_'. U dlild L | { 4

(B) 625
(D) 64

e S = U9 T HE1 & a9 ,’ffﬁiﬁ? Hq UTd B8R 7
- T :‘\ - {_1- :L"—' {‘ E' > i ]
5 "\iuﬂ qarel S L

(B) 625
A -,5
'.Q.',FJ =

R——

U‘ ) 120
~-23-BC
. . TPTCO“
BC &

L —




